Name ____________________________________________________
Math 1010, Chapter 1 Exam, Spring 2005

Note: Whenever you are using a graphing utility, round your answers to 2 decimal places of accuracy.

1. Find the distance between the given points.


P1 = (2, -3)
P2 = (4, 2)

2. Find the midpoint between the given points.


P1 = (-4, -3)

P2 = (2, 2)

3. Consider the graph of the equation 
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.  Find the intercepts of the graph (both the x-intercept(s) and the y-intercept(s)) by any means necessary.

4. Solve for x by any means available.
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5.  Solve for x by any means available.
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6. Trent can deliver his newspapers in 40 minutes.  It takes Lois 30 minutes to do the same job.  How long would it take them to deliver the newspapers if they worked together?

7. Solve for x by any available means.
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8. Solve for x by any available means.
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9. Solve for x by any available means.
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10. Solve the following inequality and state the solution in interval form.
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11. Solve the following inequality and state the solution in interval form.
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12. Find the equation of the line (in any form) which passes through the points

(-1, 3) and (1, 1).
13. Find an equation of the line perpendicular to the line 
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, and which passes through the point (0, 4).

Bonus: (5 pts.) Find the equation of a circle with a radius of 2 and a center of 

(2, -3).
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